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Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

Section 1 - Reasoning

No. of Questions: 50

1) Select the alternative that will replace the question mark in the given analogy.
25:5::169:7?

A) 9
B) 11
C) 13
D) 18

1) 39 [dhed &7 IIaT Y T f&T a0 Ireey & wed R & giaeamiad |

25:5::169:?

A) 9
B) 11
C) 13
D) 18

2) Select the alternative that will replace the question mark in the given analogy.
459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

2) 39 A ol Tl Y ST fGU T AT H 9T g ol YTaTATiid S|

459 :954 :: 387 : ?

A) 983
B) 783
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C) 939
D) 700

3) A number P is a least two digit number such that it leaves 2 as a remainder in each case when
divided by 4, 3 and 8. Find the number P.

A) 26
B) 42
C) 29
D) 48

3) HEAT P Ueh #gTcA &l 37ehId HEAT &, ST 4, 3 3R 8 GaRT a1l glet I Tedeh HATHe H 2 A9 &
T H ST | TEIT P &Y AT He|

A) 26
B) 42
C) 29
D) 48

4) Observe the given series.What number should come next in this series?

32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) & 378 el T ANETOT Y| 38 H@oll 7 MY leT A HEAT AT ATET?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35
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5) W is half of J. J is double of K. K is 109. The value of "W" is

A) 108
B) 219
C) 109
D) 218

5) J ST LT W &1 K ST &1[=AT J §| K T #TeT 109 &1 "W" T HTeT fohcteTT §2

A) 108
B) 219
C) 109
D) 218

6) In a certain code, MOUNTAIN is coded as NIATNUOM. What will be the code of the word
MGSFFJSK?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

6) T fAf%d e # MOUNTAIN & NIATNUOM & =7 # #e ag 3T SImar g1 958 MGSFFJSK #T e

FAT ZAIT?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

7) In a certain code, PARAS is coded as QBSBT. What will be the code of the word NGTTY?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ
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7) u# fAf2ra T & PARAS % QBSBT & &9 | #%e a5 a7 91a1 g1 9158 NGTTY T %e FT gT?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

8) A image is given on the left with a pattern. Which of the four images on the right does NOT have
the pattern of the left image as its part?

] ALY [

A) 1
B) 2
C) 3
D) 4

8) 98 31 Ueh UeeT o TTY Teh T &1 915 & | &8 3R I IR = # & fohast a8 e a1 a1t 7187 872

g LAY |

1 2 3 4

A) 1
B) 2
C)3
D) 4

9) Find the odd one out.
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A) Car : Vehicle

B) Iron : Metal

C) Chair : Furniture
D) Door : Window

9) TavH AT FIfFT|

A) I digdd

B) aier: SIG|

C) sﬂﬁ: HeATaT
D) axare: fgdhr

10) You are given a statement.
Statement : Today is NOT Monday.

Which of the following questions can be answered by using the given statement?

A) Is it a Wednesday tomorrow?
B) Is it a Tuesday tomorrow?
C) Was it a Saturday yesterday?
D) Was it a Friday yesterday?

10) 37T9ehT Ueh hYeT T IAT 5
HYeT: 3Tl AIHAR T8l

feT 31T FUT FT IUIRT b o1 F F DA T YT T 3] AT ST ThT &2

A) T el JUAR 82

B) &1 el FHeTeIaOR £7
C) &1 et AfTaR AT?

D) arr et ergar ar?

11) What will be the 60% of a number if 80% of that number is 160?
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A) 90
B) 120
C) 140
D) 150

11) fordlT TEAT FT 60% FAT BI9TT, 379X 3T TE&AT T 80%, 160 82

A) 90
B) 120
C) 140
D) 150

12) Pointing to lady, Raju (Raju is a male) said ,"She is the daughter of the wife of my son's father."
How is the lady related to Raju's wife?

A) Sister
B) Mother

C) Daughter
D) Daughter-in-law

12) T HAfgell ST 3R $ART I §T, TS, (XS] Ueh J& §) o gl "dg A o9 o [T oh Feelt oy ST g1
AT T T Il F H8 FefdT g2

A) sger
B) &t
C) adr
D) g

13) If 'Son' is related to 'Daughter’, then '‘Brother" is related to

A) Aunt

B) Sister
C) Father
D) Friend

Page60f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

13) Ife 'der '§r ¥ Fafad g, ar ‘A fhad efaa g2
A) Trfr
B) 5=t
C) frar
D) area

14) Find the cube that can be formed by folding the sheet shown below.

A)

1y

oY)

)

</
h
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14) g1 1 & 918 oA fG@TT a7 2fie ! s (AISET) ieh ST ST Hehell & |

i

&

B) (),
ATy

o ol
.
D) j

15) Among the given group of 4 images, which set of images can be classified as a group?

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

15)
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ST U 4 =t & w3 & | o aqga a0 o uF 99z & €9 F a(06hd (641 1 g9hdT 52

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

16) Which of the following options is the mirror image of the given figure?
y

16) AFamEmEd J ¥ Pl A U 310 [T & guor S aef?

i

LSS

F
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\.' ,
'\ N\ Y
C) \ \
', ‘\ "'-,
hY
hY
.-'ll
¥
"""._ .-".: N
h )
D) / \,
" / kY

17) Select the alternative that will replace the question mark in the given analogy.
Lion : Den :: Honey-bee : ?

A) Meadow
B) Holes
C) Hives

D) Burrow

17) 39 faheq T T3eT & it ST 1T ATeT H gaT eeT of gfaeanfid &am|

QI : T[T :: HELHFTT : ?

A) IR
B) fyor
C) o=

D) mig

18) A train moving at a speed of 54 km/hr crosses a pole in 10 seconds. How long will it take for
the same train to cross a bridge of length 150 m?

A) 20 seconds
B) 25 seconds
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C) 30 seconds
D) 40 seconds

18) 54 km/hr &Y I T TeIdY Teh ST 10 Ths H Teh GieT ! UK Xl &1 ST & T 150 m I«TS aTer
qel Sl IR el A fohelall A SN2

A) 20 Qa3
B) 25 Qg
C) 30 s
D) 40 ass

19) What is the next term in the given series?
The series is 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

19) &Y 91 STl 3 37Tl HEAT AT 52
QeI §: 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

20) If x% of x is 900, then the value of 4x is

A) 3600
B) 2400
C) 1200
D) 6000

20) Ife; x T x% 900 §, df 4x I AT fehcleT 19?2
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A) 3600
B) 2400
C) 1200
D) 6000

21) What is the coded number for WNCSZV that can be inferred from the following image?
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

21) WNCSZV & oIt she setr d&ar a1 gl St fote=t T @ 3eTATeT ofammr ST Hevell 872
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

22) To appear for an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are required:
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1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.

4) Weight more than 50 kgs.

Lata has 45% marks in 10th and 34% marks in 12th. She is 15 years old, and weighs 64 kgs. For
which of these exams is she eligible?

A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

22) Tsh TG P & 3UTEY g1t & [T, goT TR il F § ot F e it et I gl =g

1) 10T # H & FHH 60% 37|
2) 121 H A H HH 55% 3|
3) 3Ty 18 a¥ A 31|
4) goTeT 60 kgs & 37|

& Q H 3URYA gl & ToIT, 34 IR Al H T hA A A al TS ¢

1) 103t # H & FHH 70% 37|
2) 12T H A H HH 50% 3|
3) 3y 17 a¥ A 31f8h|
4) gafeT 50 kgs ¥ 38l

ofcT & 10T 7 45% 37k §, 12 df # 34% 3k g | 98 15 ATl I g, 3R 3HHT a7 64 kgs g1 38 &
forg qdieTr & foIw ag IRvT 872

A) Faer P
B) &haer Q
C) p 3 Q At
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Daarp3ikadQ

23) To appear in an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.

3) Age more than 17 years.

4) Weight more than 50 kgs.

Sarang has 75% marks in 10th and 64% marks in 12th. He is 22 years old, and has a weight of 67
kgs.

For which of these exams is he eligible?

A) Only P

B) Only Q
C) Both P and Q
D) Neither P nor Q

23) Teh Y&T P H 3UTEU Blel & TolU, $of TR Al H & A § & clled A QT Gleil A3 T:
1) 104t # H A HH 60% 37 |

2) 12T H A H HH 55% 3 |

3) 315 18 ¥ 4 3 |

4) goteT 60 kgs & 378 |

eI Q H 3UTTUT 8let & ToIT, 37 IR Ul & & T A e af TS &
1) 10 & H e T FH 70% 3 |

2) 12 &t # &H A A 50% 37 |

3) 3Mg 17 9§ 4 31 |
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4) gaTeT 50 kgs & 3Tl

HRET T 10 dF H 75% 37k 8, 12T 7 64% 37k & | 98 22 TTel T g, HR 3HHAT dold 67 kgs &1 SAH &
forg qdieTr & foIw ag IRvT 872

A) Faer P

B) &haer Q

C) p 3k Qaat
Daarp3iRad&Q

24) To appear in an exam P, at least three out of these four conditions are to be satisfied:

1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in an exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.

4) Weight more than 50 kgs.

Radha has 61% marks in 10th and 52% marks in 12th. She is 21 years old and has a weight of 74
kgs. For which of these exams is she eligible?
A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

24) Ueh qIET P H 3UTEUd g1e1 o T, 37 IR Al 7 @ hd § A ciiet 2t I glell =g

1) 103t # H & FHHA 60% 37|
2) 1241 H A H HH 55% 3|
3) 31g 18 ¥ & 3ifA |
4) gt 60 kgs & 37T+ |
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eI Q H 3UTEUT 8leT & ToIT, 37 IR Ul & & T A e &I TS &

1) 109 H e & HH 70% 37|
2) 124t & &aA T FA 50% 3|
3) 31g 17 a¥ & 3fee |
4) gt 50 kgs & 3T+ |

T & 1097 7 61% 37k g, 1247 & 52% 37 ¢ | a8 21 ATl I § 3R 3TAT aoif 74 kgs g1 518 & ford
Y& & foIw gg AT §72

A) Faer P

B) &haer Q

C) p 3k Q At
Daarp3iiRad&Q

25) A figure is given on the left with a pattern. Observe and find out which of the three images on
the right looks similar to the right half of the pattern on the left?

Sh dHiazh

A1l
B) 2
C)3
D) Both 1 and 2

25) &S 3N Teh Yot Aigd Teh o 18T 9131 &1 £41eTqdeh STQT 3R AT HIfST fob ar$ 3R o it ot
# A el AT TS 3N & Yool & qlfge MY FEA & FAT @ 572
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A) 1
B) 2
C)3

D) 1 3ik 2 &t

26) Which of the given option will NOT share the same property as the elements of the given set?

Mouse, Keyboard, Printer

A) Scanner

B) Tennis

C) Monitor

D) Web Camera

26) f&T 91T faehedl & @ leT AT faehod ST JUTETIHTE ol TTAT 6T M Wil (ST AT HE & cled A 872

A) 5t
B) >fyg
C) Affaex
D) d &

27) You are given a pair of statements.

(i) P is an odd number.
(i) Q is an even number.
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Which of the following questions can be answered by using the given statements?

A) What will be the remainder left when (P+Q) is divided by 2?
B) What will be the remainder left when (P+Q) is divided by 3?
C) What will be the remainder left when P is divided by 3?
D) What will be the remainder left when Q is divided by 47

27) 3T9eRT YT T Teh AT &Y 7S B
(i) P U fawer e B

(i) Q U TH TEAT ¢ |

feT ITT FUAT T IYIT T ed F A g w1 &1 3R AT 7 FehelT £2

A) Je (P+Q) I 2 A TaenTora foham ST § ar Aol &/ gram?
B) St& (P+Q) &1 3 & fasnfora fora Siram & ar QA9thel &m g1
C) St& P &Y 3 & faanfara foram Siram & Y A9thel = gl
D) St& Q 1 4 & e foram ST & aY Aol =T grem?

28) You are given a statement.
Statement: P is a prime number.
Which of the following questions can be answered by using the given statement?

A) Is P divisible by 2?
B) Is P divisible by 3?
C) Is P divisible by 472
D) Is P divisible by 5?

28) 39! Uah 2+ far T § |
$UT: P Teh AT TEAT & |

T 37T FUT T 3T Flah AT H T T A U2T T 30X AT ST bl 87

A) Farp, 2 O faueT &2
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B) w2 P, 3 @ Ao &7
C)aarp, 4 @ fassg &2
D) & P, 5 @ o= &7

29) 68% of the students passed in an examination. If the number of students who failed are 256,
then the total number of students who passed are

A) 544

B) 623

C) 800

D) 657

29) T TET & 68% faemt 3ol gU| R 3reeioT et it wear 256 &, d <ot et
T F&AT fahdalr 82

A) 544
B) 623
C) 800
D) 657

30) Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

A) Sister

B) Mother
C) Daughter
D) Niece

30) g 1 AT Sliaet & far i swhelldr 31 &1 g 1 Shast & F7ar Heer g2

A) sger
B) &t

C)adr
D) sriair
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31) Three among the four options mentioned below belong to the same class or group. The odd
one out is

A) Square
B) Cube
C) Pyramid
D) Cylinder

31) e T 10 IR faeheq & 8 il U & 997 AT o & HaTd & | ST & I BisT AT 87

A) TFaRR
B) o

C) RifAs
D) Rreiv=t

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
(A) (B) © (D) (1) ) (3) C))
A1l
B) 2
C)3
D) 4

32) @leT HT 3T TSI &F a1 HHAEAT DT o Yot T I HYaf?
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Problem Figures: Answers Figures:
(A) B © D) ¢) (2) 3) C))
A) 1
B) 2
C)3
D) 4

33) Among the given group of 4 images, which set of images can be classified as a
group?

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

33)
R0 T 4 =T & 99 | 9 e 9qga =l &1 UF 998 & &9 § a¥(6d a7 i1 9dT 872
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A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

34) Identify the mirror image of PS8R17L3.

A) E1VTA8EH

B) £14148Sd
C) EYArHdseq

D) €4711H8Sd

34) PS8R17L3 &Y Yo SmE i Ugdard &Il

A) £1VTA82H
B) £1.148Sd
C) EYdrHdsceq
D) €471148Sd

35) Select the alternative that will replace the question mark in the given analogy.
Algeria : Algiers :: Austria : ?

A) Kabul
B) Tirana
C) Suva
D) Vienna

35) 3 fashed T T Y ST ST 31T AT H U2 [T &l afaeariid S|
e IRAT : ooty == 3T : ?

A) g
B) formem
C) g
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D) e

36) The value of a car depreciates at the rate of 8% per annum. What will be the price of the car
after 2 years, if the current worth of the car is ¥ 3,00,0007?

A) 376510
B) % 342170
C) % 285640
D) % 253920

36)
T FTX HT G ITda9 8% il & & 5 FTAT gl 2 FTA d18 HT HT ToF FAT g1 ITS THHT FqHT o7 I
300000 g?

A) 376510
B) % 342170
C) % 285640
D) 253920

37) The next number in the series is

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

37) #@eT 7 39Tel HE&AT HisT AT §2

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688
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38) The next number in the series is:

6, 20,42,72,7

A) 100
B) 102
C) 110
D) 112

38) ST H 33Tl H&AT it A 82
6, 20, 42,72, ?

A) 100
B) 102
C) 110
D) 112

39) A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some runs
because of which his average increased to 40. What was his score in 11th innings?

A) 40
B) 50
C) 70
D) 80

39) 10 UTRAT & T fohehe T 3T TR 36 AT| AT 11 IR A 37 FS ToT ST, fTEh HROT
3T 3T SEHT 40 8T IT| 1187 IRY 3 3TFT ThIX FAT AT?

A) 40
B) 50
C) 70
D) 80

40) If 'bcd’ is written as ‘def’, then what is the code for ‘true’?

A) dcek
B) kpuz
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C) vtwg
D) fimw

40) T 'bed' @1 'def’ & &9 H fr@r /=T 8, & 'true’ & fIT fHe &7 gram?

A) dcek
B) kpuz
C) vtwg
D) fimw

41) A figure is given on the left with a pattern. Observe and find which of the three images on the
right looks similar to the top half of the pattern on the left?

1 2 3

A1l
B) 2
C)3
D) Both 1 and 2

41) TS 3R U et & AT T O &1 915 § | earerqass SfAw 3R A1d fifore ik ars 3R & e et
H T o7 a1 a1 3N & oot & M 3 Red & gA= fe@ar g

1 2 2

A) 1
B) 2
C)3
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D) 1 3tk 2 &t

42) Which of the following options will NOT share the same property as the elements of the given
set?

ADG, CFl, BEH, DGJ

A) MPS
B) NQT
C) LNQ
D) RUX

42) FAF=fafed # & s a1 fasheq T a7 Ae & dedl & S 0T T HTST 6T M2

ADG, CFl, BEH, DGJ

A) MPS
B) NQT
C) LNQ
D) RUX

43) You are given a statement.
Statement : Circle P has a radius of more than 6 cm.
Which of the following questions can be answered by using the given statement?

A) What is the diameter of P?

B) What is the area of P?

C) Can a square of side length 15 cm completely lie inside P?
D) Can a square of side length 2 cm completely lie inside P?

43) 3R Uah 2T fear =T § |
YT Id P &1 416 cm ¥ 317 &

few 31T U FT 3T Flah AT H T FT 9T 1 31 f&am 31 Fepar &7
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A) P & TIg FITE?

B) P & aawe FaT E?
C)

D)

T 15 cm TS hT TS aTell Ueh HHRIOT TeTeT P & e U e & e g7 Hevarr 87
T 2 cm 1 HI TFETS aTell WW@@P%W@W?W?W%

44) The combined age of Alex and Charles is 12 years more than the combined age of Reeta and
Charles. 18 years ago, Alex was three times as old as Reeta. The present age of Reeta is

A) 24 years
B) 26 years
C) 28 years
D) 30 years

44) Treg 3R AT i HYeFT 3 T AR Ao T HFercd 3 F 12 T 3118 §| 18 ATl T8,
Tolerd Il & et T[T SATET 33 1 AT| AT T TAATH Y fhceh g2

A) 24 T
B) 26 a¥
C) 28 ¥
D) 30 af

45) 4 means 'is the sister of', 5 means 'is the mother of' and 2 means 'is the brother of'. The relation

isexpressedas X2Y,Y5Z,Z4 N, and N 2 L. Which of the following statements is valid for the
given relation?

A) L is the son of Y

B) N is the daughter of X
C) N is the brother of X
D) Y is the mother of L

A5) AFTHTE A SgT g, 5P AT AT IR 2 A NG FIHASE I TR X2Y,Y5Z, Z4N,
IR N 2 L & &9 & cgea forar arar | Aeafaf@a & @ i a1 53+ fev arv gey & faw derg?

A YaFTgTLE
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B) X fradrN g

COXFAENE
D) Lfraryg

46) Rahim is the son of Rehan, who is the son of Sana. Sana's daughter has only one child,
Shahrukh. How is Rahim's sister related to Shahrukh?

A) Uncle
B) Aunt
C) Mother
D) Cousin

46) BT, T8TeT I ST &, Sil Hell T ol g | TeAT ST ST FT shdol Ueh gl &, AMETW | JGTH Hr ST
UEST U HyY gafad g?

A) T
B) ar<fr
C) &t

D) 718y g

47) Three of the four choices mentioned below belong to the same category or class. Find the odd
one out.

A) Lionel Messi

B) Cristiano Ronaldo
C) Dani Alves

D) Paul Walker

47) 7 few a7 AR faheal J & i Tes &7 Aol J7 997 & § | 347 F 3191 AT IV

A) foriarer AT
B) fhfeeama Asrest
C) gofa 3reaw

D) gfer atet
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48) Given below are some of the different views of a dice. What would be the number opposite to
the number 4?

A) 9
B) 5
C)7
D) 6

48) I Teh ITH o fafdieet ¥ U 910 §| T&AT 4 & faudia uaT hr d&ar #r giefr?

2 = > 7~ -

8
[ 7
:

A) 9
B) 5
C)7
D) 6

49) Among the given group of 4 images, which set of images can be classified as a group?

1 2 3 4

A) (1, 2, 3)
B) (1, 2, 4)
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C)(1,3,4)
D) (2, 3, 4)

49)
faw w4 ==t ® &, ==t % g a9ga 91 uF 998 | a9iiga a1 S aaar 82

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

50) Find the odd one out.

A)

o[

-

D)

!

N

50) faw# A1 FIfST]

A)
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B)

C)

b

D)
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Section 2 - English Language

No. of Questions: 50

51) Identify the Antonym for the word - pitfall

A) Safeguard
B) Danger
C) Monitor
D) Inaction

52) Choose the correct article to complete the sentence:
Every Sunday Joan goes to church.

A) No article required
B) an

C) the

D) a

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) I always go to / (B) seeing a film/ (C) on Friday evenings./ (D) No Error.

A) A
B) B
C)C
D) D

54) Choose the best meaning of the underlined idiom in the sentence.
The friends meet each other once in a blue moon.

A) for a short time

B) once in a while

C) under the blue moon light
D) during the full moon

55) Fill in the blank with the correct pronoun:

Page320f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

| lost the pen | bought yesterday.

A) that
B) whom
C) where
D) who

56) Fill in the blank with correct option:

| parked my car a tree and went in search of my dog.

A) between
B) over

C) above
D) under

57) Fill in the blank with correct option:

She hid the letter a pile of papers.

A) over

B) among
C) beneath
D) with

58) Choose a suitable option to complete the sentence:
His father is very proud of his

A) failure

B) downfall
C) success
D) misfortune

59) Identify the Compound sentence.

A) There is no magic formula for success.
B) He is a family friend.

Page330f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

C) He lost the next page of his speech and floundered for a few seconds.
D) George and Harry are good friends.

60) Choose the word that is correctly spelt.

A) Descrete
B) Discrite
C) Discrete
D) Diescrete

61) ldentify the correct Synonym of the underlined word:
| don't think you understand the gravity of the situation.

A) Usefulness
B) Cheerfulness
C) Calmness

D) Seriousness

62) Identify the correct Synonym of the underlined word:
They invited me for dinner and | thought it would be churlish to refuse.

A) Polished
B) Rude

C) Polite

D) Courteous

63) Fill in the blank/s with the correct form of the verb given in brackets:

I (decide) to complete this work by the end of the day.

A) am to deciding

B) will decides

C) had been decided
D) decided
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64) Fill in the blank/s with the correct form of the verb given in brackets:

My mother never (curse) anyone during her lifetime.

A) cursed

B) curse

C) will curse

D) will be cursing

65) Choose the correct verb to complete the sentence:
He the article last night.

A) writes
B) written
C) wrote

D) will write

66) Choose the correct verb to complete the sentence:
She was chosen for the role because she very well.

A) sings

B) was singing
C) is singing
D) will sing

67) Identify the Antonym for the word - analogous

A) Different
B) Similar
C) Digital
D) Manual

68) Choose the correct article to complete the sentence:

They went for a holiday to _ Andamans.

A) a
B) an
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C) the
D) No article is required

69) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) Our new sofa / (B) don't fit / (C) through the door. / (D) No Error.

A) A
B) B
C)C
D) D

70) Choose the meaning of the underlined idiom in the sentence.
She acted professionally by keeping the terms of her contract as she did not want to burn bridges

at her old job.

A) to close the way backward
B) to close the bridge

C) to break the barrier

D) to start all over again

71) Complete the sentence with the correct phrase.
The Indian athlete won the gold medal because he ran

A) for great speed
B) at top speed
C) on great speed
D) in great speed

72) Fill in the blank with the correct pronoun:
Please listen to he says.

A) what
B) that

C) which
D) them

73) Fill in the blank with the correct pronoun:

Page360f91




Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

The jury is not ready with verdict.

A) his
B) its
C) their
D) her

74) Fill in the blank with correct option:

The tunnel goes right the city.

A) between

B) over

C) above

D) underneath

75) Choose the correct option to complete the sentence:
The boy always does as he is told.

A) careless
B) naughty
C) indolent
D) obedient

76) Choose the correct option to complete the sentence:
She had to take rest, because she was after the climb.

A) excited

B) elated

C) bored

D) exhausted

77) ldentify the Complex sentence.

A) The radio started to crackle.
B) The logs crackled and popped in the fireplace.
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C) An elderly couple lives next door.
D) When | was younger, | could stay up all night.

78) Choose the word that is correctly spelt.

A) Ambivelence
B) Ambivaylens
C) Ambivaelance
D) Ambivalence

79) Choose the word that is correctly spelt.

A) Questionnaire
B) Questionaire
C) Questionnair
D) Questionnairre

80) Identify the correct Synonym of the underlined word:

A decrepit old man sat on a park bench.

A) Clumsy
B) Frall

C) Happy
D) Tall

81) ldentify the correct Synonym of the underlined word:

He was dressed scantily.

A) Successfully
B) Inadequately
C) Sufficiently
D) Ideally
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82) Fill in the blank/s with the correct form of the verb given in brackets:
Ram (go) to be an engineer when he (grow) up.
A) was going, will grow

B) goes, grew

C) will go, grows

D) is going, grows

83) Fill in the blank/s with the correct form of the verb given in brackets:

Samuel (complete) his postgraduation and soon (leave) for the US.

A) completed, leaves

B) has completed, will be leaving
C) will complete, will leaves

D) completed, lefts

84) Choose the correct verb to complete the sentence:
The garden is now better kept than it last year.

A) was
B) is

C) were
D) has

85) Choose the antonym of the underlined word.
Visiting Rajasthan during the summers will give rise to chagrin.

A) Exasperation
B) Pleasure

C) Mortification
D) Vexation

86) Choose the correct article to complete the sentence:
He drives his car at 60 kilometres hour.

A) a
B) an
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C) the
D) No article required

87) Choose the correct article to complete the sentence:
May | have pleasure of your company?

A) a

B) an

C) the

D) No article required

88) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) The temperature are / (B) expected to be in / (C) the eighties tomorrow. / (D) No Error.
A) A

B) B

Cc)C

D)D

89) Choose the meaning of the underlined idiom in the sentence:

Ronaldo kept a stiff upper lip all the time while he was being treated in the hospital.

A) showed off

B) showed joy

C) showed courage

D) showed reservations

90) Choose the Pronoun in the given sentence:

To whom should | write?

A) to

B) should
C) write
D) whom
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91) Fill in the blank with correct option:

Please put your shoes before you step out onto the stage.
A) for

B) of

C)on

D) in

92) Fill in the blank with the correct option:

the river lies the village of Shantipur.

A) On

B) After
C) Before
D) Beyond

93) Choose the correct option to complete the sentence:
The accountant after he was accused of fraud.

A) rejoiced
B) remained
C) resigned
D) receded

94) Choose the correct option to complete the sentence:
His career is by his careless attitude towards work.

A) effected
B) affected
C) flourished
D) spiraled

95) Identify the Compound sentence.
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A) She mumbled something about being too busy.
B) These exercises build muscle and increase stamina.
C) He was muttering to himself.

D) Unfortunately some poisonous mushrooms look like edible mushrooms.

96) Choose the word that is correctly spelt.

A) Disseminate
B) Dessiminate
C) Desseminate
D) Desiminate

97) ldentify the correct synonym:
Eloguence

A) Attention

B) Humbleness
C) Delusion

D) Fluency

98) ldentify the correct synonym:
Avid

A) Uninterested
B) Keen

C) Indifferent
D) Submissive

99) Fill in the blank/s with the correct form of the verb given in brackets:

He (explain) the rules several times but | did not understand them.

A) explained

B) is explaining

C) will explain

D) will be explaining
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100) Choose the correct verb to complete the sentence:
The Bond movie, 'Die Another Day' is tonight.

A) premier

B) premiering

C) been premiere
D) to premiered
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Section 3 - General Awareness

No. of Questions: 50

101) Which yesteryear actress has been conferred the Master Deenanath Mangeshkar Lifetime
Award 20197

A) Helen

B) Asha Parekh

C) Waheeda Rehman
D) Hema Malini

101) g a7 ¥ 31TANAT I AT AT HIARMHT ATSHESH 37ATS 2019 T GFATAT foham I=m 872

A) 2T

B) 3merm ar@
C) ager A=
D) &7 Ffaer

102) Which vitamin is necessary for calcium absorption in the body?

A) Vitamin-A
B) Vitamin-B
C) Vitamin-C
D) Vitamin-D

102) SRR H FHerRI & 37aRNY0T & TolT i AT [aerfdsT 3aede gidr g2

A) fgarfaa-A
B) fgerfa=r-B
C) arfa=-c
D) faerf@=r-D
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103) Which of the following is NOT a water harvesting system in India?

A) Rojison
B) Khadin

C) Kuhl

D) Surangam

103) T f&d H & it AT HRT H STeT HIUGUT YUTTell oTal &7

A) QST
B) wifee
C) gt
D) gtaret

104) In 1953, Andhra Pradesh became the first state in India to be created on the basis of

A) Religion
B) Language
C) Caste

D) Population

104) 1953 H, 3T Y2l [Tl fad # & ford 3R 91 1TSS glet dTell AR T Ugoll Ao ol ITAT?

A) et
B) srer
C) anfa

D) sergwar

105) Muga silk is produced in which of the following states of India?

A) Karnataka
B) Rajasthan
C) Assam

D) Chattisgarh
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105) HII YAH T 3cUIe HRd & AT & F ey 77 A glar g?

A) e
B) Irerears
C) sram

D) ot

106) Nataraja, Lord of Dance is a depiction of which Hindu god?

A) Shiva

B) Ganesha
C) Karthikeya
D) Indra

106) T &, #ersT fohd fgwg o & FRITId oid &2

A) frg

B) aoter
C) wifcera
D) &g

107) Which of the following states has the longest coastline in India?

A) West Bengal
B) Goa

C) Gujarat

D) Odisha

107) IRd & AT @d # 8 7T ToT H FH o6l deddr 87?

A) gfes FaTrer
B) afar

C) arorrer

D) 3nfzem
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108) The biggest canal project in India that starts from the Harike barrage at Sultanpur, a few
kilometers below the confluence of rivers Sutlej and Beas is

A) Ganga Sagar Canal Project
B) Mahanadi Canal Project

C) Indira Gandhi Canal Project
D) Son Canal Project

108) R H FoclloTqX H §ieh SRToT H YE Blol dTell HEY T37 76T TRIANSIAT shist AT 8, ST Helorol AR
ST AT & FIH A FS fhell AT gT 51

109) Who was victorious among the following rulers in the Second Battle of Panipat?

A) Akbar
B) Hemu
C) Sher Shah Suri
D) Babur

109) T o GIciar Jeo # far=faf@d amaet & ie fasri g3m ar?

A) 3T

B) &1

C) eReme T
D) are

110) Which of the following Navratnas was responsible for creating the successful land revenue
system for Akbar?

A) Birbal
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B) Raja Man Singh
C) Raja Todar Mal
D) Faizi

110) e # & fohd sTatcst o 3eha o ToIT Aol §1 AT YOTTel! &1 TaehId fehaT AT?

A) S

B) tram AT RiE
C) IreT 2= A
D) thfr

111) EVMs are used in Indian General and State Elections by voters to cast their vote. EVM is an
acronym for

A) Electrical Voting Mechanism
B) Election Voting Machine

C) Elected Voting Member

D) Electronic Voting Machine

111) R 3TH AT 3R T FoATdl H HAeT & T AACTT3i S@RT EVM sl 3TN fohar ST 8|
EVM ToioT # & fehqeht IRavif 2reg 572

A) gafdeare aIfEa AhfaeTd
B) gorerereT aifear efeT

C) s AT AR

D) serereifaes aifear @mehiar

112) As per the Election Commission, in the 2014 general elections, which of the following Indian
states had the highest number of Lok Sabha seats?

A) Rajasthan

B) Maharashtra
C) Bihar

D) Uttar Pradesh
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112) FATd 3TART & HASh, 2014 & WA A9 H, fArafafad aRd 31 & § fha T
ATHTAT TET T TEIT TaH Jfah A2

A) Tt
B) sgrrSg
C) ReR

D) 3z geer

113) What was the theme of National Science Day 2019?

A) Science and Technology for a Sustainable Future
B) Science for the People and the People for Science

C) Science and Technology for Specially Abled Persons
D) Science for Nation Building

113) IS¢ faaTet fead 2019 &1 Het fawr (2fe) =am ar?

A) o e sifasa & e R 3¢ sl iy
B) Sttt & fore faamet 31k faamer & forw afer

C) Recarar aiatt % e Rramer 3¢ S

D) qree fo#Tor & forw e

114) Who was appointed as the Chairman of the Defence Research and Development

Organisation (DRDO) and Secretary in Department of Defence Research and Development
(DDR&D) in August 20187

A) Dr. Kailasavadivoo Sivan
B) Dr. G. Satheesh Reddy
C) Dr. G. Madhavan Nair

D) Dr. Pravin Kumar Mehta
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114) 319TET 2018 # T&TT 3THT Ud [dehi HardeT (DRDO) o 31egeT 3R &1 3eTHeT= Ud fdehrd
fermer (DDR&D) & Tfa & 9 & 58 fAgerd fohar arar?

A) 3. Femaarieg faae
B) gf. Sit. Trcier {sar

C) 57 . ATergeT AR
D) 5. gefior AR Aga

115) Yogeshwar Dutt, an Indian sportsman, is associated with which of the following sports?

A) Swimming
B) Kabbadi
C) Wrestling
D) Boxing

115) AR QST TeRaR &, eafaf@d # 8 g Ud 9 §efad 82

A) 3

B) Fragar
C) gecht

D) sgerharair

116) Which of the following players is associated with the sport of ‘Wrestling'?

A) Vikas Gowda

B) Shiva Thapa

C) Soumyajit Ghosh

D) Narsingh Pancham Yadav

116) folet & @ T @ D@l FHoelr & Wl @ Ffed 82

A) Tgerrg TilsT
B) fRrar amar
C) glrzaia gy
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D) sfdig gu# area

117) In March 2019, who among the following was appointed as one of the Managing Directors of
Life Insurance Corporation (LIC)?

A) Nishant Patil

B) Vipin Anand Monday
C) Varsha Sharma

D) Raghu Ram Rajan

117) AT 2019 H, AT @d & & ha Sfiaet §tAT [A9197 (LIC) & 9T fHGeren! & & Tk o 9 &
forgerd fomam arar?

A) fRera o
B) fafet 31l A2
C) asf et

D) vg 11 Wt

118) Which Railway Station in India has become the first ever railway station to get Green ISO
Certification from the National Green Tribunal?

A) New Delhi
B) Habibgunj
C) Guwabhati
D) Secunderabad

118) $TRcT oI shieT &T Teld T AAeTel IMeT [EegeTel GaRT et ISO THTVT UTe ATell Tgell JoTd FRAeT
T I1AT 82

A) 718 Rrseir
B) gefraeror
C) aparrer
D) Ryeherare
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119) Usually when a yellow curry stain on the cloth is rubbed with soap, it turns brownish-red. This
is because

A) soap contains an acid

B) curry contains turmeric that turns brownish-red with base present in soap

C) curry contains red chilly powder that turns brownish-red with base present in soap
D) soap does not show cleansing action for turmeric present in curry

119) ATATI: SId U3 W o1 Heofl & ATelel & el 9T &l ATgeT @ WTST AT &, AT T $X-eTeT 1T T
&1 ST &1 I ST glar & F4ife

A)  Ag 7 IFA AT E

B)  Terr 3 5 aYeh & ot et 3 AT ST % s 3 TR S T 47T Y g ST B

C)  areret # et TAT A13sY g1aT § St WG 7 Hlo[g 8T 3 T 3 3T 3X-aTel 137 T 81 STl &
D) et Brers 3 itg g 35 T T AT avee) o T SR 1€ v &

120) Drikold is a refrigerant that uses

A) frozen water

B) solid carbon dioxide
C) solid nitrogen

D) frozen acetic acid

120) f3ores U Ifholie & ST

A) ST T ST T SETATS T &

B) o1 SIeeT SIS3HTATSS T SEAHTST ST &

C) o1 FATSeISTel T SEQHTS LT &
D) 5ot g vfafee 3wa &1 seaaATe aer &

121) Which of the following options is NOT matched correctly?

A) Rights Against Exploitation: Article 20-22
B) Right to Equality: Article 14-18
C) Right to Freedom of Religion: Article 25-28
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D) Cultural and Educational Rights: Article 29-30

121) AT 7 & et A7 Taehod TEY &1 F GAToIT 761 67

A) qiroT & faeer IfRIFR: Hegede 20-22

B) e @1 31fte: 3r7eda 14-18

C) enfier Tacar 1 HfFR: 37esg 25-28

D) wreapfar 3t e waret s 3re7eoe 29-30

122) Which Schedule of the Indian Constitution makes provision for division of powers between the
Centre and the States?

A) Sixth schedule
B) Seventh schedule
C) Third schedule
D) First schedule

122) AR GfqerrT Fr foha T # g 3R AT & S ATFAAT & TIHTSTT T Iraen=T 2

A) w8 s

) Tt g
©) ey i
) wEel e

123) Which place is famous for Chikankari, a traditional embroidery style?

A) Ludhiana
B) Lucknow
C) Hyderabad
D) Mysore

123) SieT AT TATT TheTehT, Toh IR dhels Aell o Torw qfiey 72

A) gferme

Page530f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

B) sraas
C) gexmare;
D);‘_h:!?

124) Which of the following statements is CORRECT regarding the Sikh Gurus?

A) Guru Ram Das became Sikh Guru after Guru Arjan Dev

B) Guru Tegh Bahadur appointed Banda Bahadur as the military leader of the Sikhs
C) Gurmukhi Script was given by Guru Arjan Dev
D) The birth place of Guru Nanak is Basarke, India

124) TG 731t & TG H HAEATARIT 7 F ol AT HUT T 872

A) I T ST, T[T 3oTT & & d1G (0 9% o

B) 7% oot Se1gR o A & der AT & ®9 7 Jear SeIgY I Agerd
C) et faf I 3rotet & GarT &Y =Y o

D) I[% #ATeTeh T STod TUTT HRA H S &

125) On which of the following rivers is the Panchet Dam constructed?

A) Damodar
B) Mahanadi
C) Krishna
D) Luni

125) fAeafaf@d & & fFg ¢ W 93a arer &1 AT forar a=ar g2

A) eTAtex
B) wgrerdr
C)Twrr
D) oyt

126) Baralacha La pass connects which two states of India?
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A) Himachal Pradesh and Jammu and Kashmir
B) Himachal Pradesh and Uttarakhand

C) Sikkim and West Bengal

D) Uttarakhand and Uttar Pradesh

126) SSTATAT o &1 HRA & foheT &T AT ST SASAT &2

A) fearerer wieer 3R SRR
B) fe#merer wger 3R 3axr@s

C) rafear 3R afas semer

D) 3er@s 3R 3R e

127) Which of the following Governor generals of the East India company introduced the most
controversial policy called 'Doctrine of Lapse'?

A) Lord Curzon

B) Lord Mountbatten
C) Lord Dalhousie
D) Warren Hastings

127) ST 34T el o [AFAToI T e STeieil 7 o fohde e faaregreye Aifa ger $r o, o
SIGITA T AU &gl STl 67

A) |TS ot

B) 9§ A3ede

C) its serlsh

D) aRet gfecsw

128) Which civilization deployed the 'Gurukul system' for Education in India?

A) The Vedic Civilisation

B) The Indus Valley Civilisation
C) The Mesopotamian Civilisation
D) The Dravidian Civilisation
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128) fore T o SR H 18T o foIT "Irdehet YoTTell” 7 FER fohar?

A) few e

B) fiey and we=rar

C) Aaerf@ae gear
D) gfas @wswar

129) The National Emblem and Seal of the Government of India was taken from the:

A) Iron Pillar, Delhi

B) Ashoka Pillar, Sarnath
C) Qutub Minar, Delhi

D) Sanchi Stupa, Raisen

129) HRA TR &I T e 3R 75T F1 Fogl ¥ foran I &ar?

A) oitg w97, ool

B) 3reier Toiey, ORATTY
C) Fqe Fem, ool
D) @il &1 T, e

130) As per the 44th Constitutional Amendment of 1978, which of the following ceased to be a
fundamental right and remained only a legal right?

A) Right to Work

B) Right to Property
C) Right to Health
D) Right to Privacy

130) 1978 & 44d HAHTTAeh T & AR, Aol H & it &1 A 3HfARR o h el
hleell PR Faf AT 82

A) 1A &1 3R
B) gufy & 3R
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C) Fareey #1 3RFR
D) fasrar &t 31f8sR

131) Identify the software unveiled in 2018, to keep track of punctuality of trains as well as freight
and passenger earnings from anywhere in India.

A) eDisha
B) eConnect
C) eDrishti
D) eRail

131) ART H el T 3 ATer 3R I 37T o TTI-ATYT oAl I FHT FI ITEET X To (W= & TolT 2018
H HATGROT TohT 91T ATFEATX T JgdTel Y |

A) g-feerr
B) & amae
C) s.efe
D) & Y&

132) The launch of Chandrayaan-2, India's second Moon mission was called off by ISRO due to a
technical snag. The rescheduled date on which this spacecraft was successfully launched is:

A) August 15, 2019
B) August 22, 2019
C) July 22, 2019
D) July 15, 2019

132) R & qER AGHT A2 TGATeT -2 & T&TIUT &l dFeheilehl WIS & FHROT ISRO SaRT TN #X
fem arar aT| 4 3ARET I T AhIATgdS GETT Fhu Srer hr qafereifRe fafdr sley & oo

A) 30TEd 15, 2019
B) 3marea 22, 2019
C) Sers 22, 2019
D) Ferrs 15, 2019

Page570f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

133) Duleep Trophy is associated with which of the following sports?

A) Hockey

B) Cricket

C) Lawn Tennis
D) Golf

133) faefiw gl erafafad 7 & fofed Wor & Gafiad g2

A) gty

B) fre

C) dia-2fae
D) sirew

134) Which of the following sports is associated with Deodhar trophy?

A) Cricket

B) Lawn Tennis
C) Football

D) Volleyball

134) fafof@d 7 & &l O1 WeT SaeR Il § TaTd g2

A) e

B) St 2T
C) peater
D) areliaier

135) The Northeast Frontier Railway (NFR) won the best innovation award in the Indian Railways
for the fiscal year 2018-19. What is the name of the innovation?

A) Nano Ganesh
B) Plan Bee
C) Nanneer
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D) Bhungroo

135) qafa AT Yord (NFR) o & a§ 2018-19 & fAT R Yo1d & HIATS AGuREcTe JEHR
ST &1 39 TR T AT F47 82

A) S arorer
B) corret &Y
C) aiix

D) W

136) Which movie won the award in the category of 'Best Documentary Short Subject’ at the 91st
Academy Awards?

A) Black Sheep

B) End Game

C) A Night at the Garden
D) Period. End of Sentence

136) 919 Tehs#Y 31aTSH H Tohd [thod o 'SEC SIFFAE ATC Heolere' T AUN H RERR SHIar?

A) s T

B) gz 91

C) 31 ASe ve g MEA
D) $ifters . Us 3itw d=ed

137) Wires carrying electricity should NOT be touched bare footed. This is because

A) the earth has high potential

B) live wire has low potential

C) live wire has high potential

D) wire carrying electricity has infinite resistance

137) forsTell JobcT R oY ofet &R fohay hR0T A +7Et et AR T?
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A) gt fop el &1 AT STT gl &

B) =it for afera ar &7 fasra ReT gar @

C) w2t for afehg ar &1 Rema =T @ &

D) it o faretelt o AR &t Sfaier 3eid giar &

138) "Even a diseased person can donate eyes after death for another person in need." A person
suffering from or expired due to which of the following diseases can donate eyes?

A) Diabetes
B) Cholera
C) Tetanus
D) Meningitis

138) “Teh TI0T chicrcl 3 FHcF o d1G ohdll GO SRIcAHG chierd i a1 1 &TeT Y Hehell 51"
fe=tTori@d & & fohg ST & IEd AT T hiched HI &leT Y Hehell §2

A) mrepig

B) ¥

C) ereyseapm T
D) afeass s

139) The Joint Sittings of the two Houses of Parliament are held in the

A) Speaker's Chamber
B) President's Chamber
C) Central Hall

D) Committee Hall

139) THE, o il Hewil hT TYerd AGeh gl ITANToIcl T SATell 82

A) TRt &7 e
B) qrseufa &1 d R
C) &&ra st
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D) afafa wer

140) Motilal Nehru and eight Congress leaders drafted a Constitution for India in the year:

A) 1926
B) 1927
C) 1929
D) 1928

140) AT 71g% 3R FEF & TS Ad1AT o AR & forw afaenss Fr Adler ffd av & daR frar ar?

A) 1926
B) 1927
C) 1929
D) 1928

141) Who launched the 'Shuddhi movement' to reconvert the Hindus who were converted to other
religions?

A) Brahmo Samaj
B) Prarthana Samaj
C) Arya Samaj

D) Radha Soami

141) 3= g 7 IRafdd e 1w g3t St ge: aRafdd el & forw efer seleer fhae & fohar
ar?

A) st THTS

B) s TSt

C) 3ms warST

D) rem Tt

142) The celebration of 'Khordad Sal' marks the birthday of the prophet belonging to which
religion?

A) Sikhs
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B) Jains
C) Hindus
D) Parsis

142) '@IeTE ATel’ &1 3084 hd 4 & e YIFa) & SAeHTGe T Tl 872

A) g
B) 3=
O fig
D) gt

143) The highest mountain peak in India is

A) Nanda Devi

B) Kangto

C) Saramati

D) Kangchenjunga

143) 9Rd H T 3 9dd AIET SisT IY g2

A) e &
B) sharar
C) arraAre

3

144) Who among the following revolutionaries was NOT part of the Kakori Conspiracy?

A) Ram Prasad Bismil
B) Bhagat Singh

C) Chandrashekar Azad
D) Keshab Chakravarthy

144) TFAtaflad sifdeRAT & & Pl PRI Y5I7 1 fgear Aar o2
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A) 31 e, fafeaer
B) srorr i

C) Teg e 39TTE
D) Srerer wsharcif

145) Match the following leaders in List | with their corresponding famous slogans in List Il

List | List 11
(i) Bhagat Singh (@) Do or Die
(if) Mahatma Gandhi (b) Dilli Chalo

(iii) Subhas Chandra Bose |(c) Inquilab Zindabad

A) ()-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) ()-(a), (ii)-(b), (ii)-(c)
D) (i)-(a), (i)-(c), (iii)-(b)

145) T | F a1 A3 1 Gl 1| 7 o Fetere ey AR & |1 7|

ol | o ||
()waRie  (a) s @ =
(ii) werem el |(b) et <t
(iii) g =iz =it |(C) et iam

A) (i)-(c), (i)-(a), (iii)-(b)
B) (i)- (b), (i)-(c), (iii)-(a)
C) (i)-(a), (i)-(o), (ii)-(c)
D) (i)-(a), (ii)-(c), (iii)-(b)

146) Which of the following options is TRUE regarding the tenure of a member of State Public
Service Commission?

Page630f91



Setld: 61772 3 Technical Assistant (LAB) - Physics BATCH1 180CT2020

A) A member of State Public Service Commission shall hold office for a term of 10 years from
the date on which he enters his office

B) A member of State Public Service Commission shall hold office for a term of 5 years from the
date on which he enters his office

C) A member of State Public Service Commission shall hold office until he attains the age of 65
years

D) A member of State Public Service Commission shall hold office until he attains the age of 62
years

146) T olieh [T IR & HEET & HIIFIA & R H o1 #§ I FleT T [qhed T 872

A) T ok HaT JTANRT T HeE T AT TG & Tt et & 10 Aol iy 3@ty o forw e ey
Sacll

B) o ol Jar 3T & HeEd 3sh g e & uger ot & 5 A1 Y 319 & fow ug gror aw
b &

C) T @it T 3TET T FEET 65 Y T I deh UG UROT W FehelT ¢
D) Trowr e BaT AT &7 HeE 62 A T Y T TE YT X Hehell &

147) In January 2018, the Union Minister for Earth Science inaugurated the High Performance
Computer (HPC) System named ‘Mihir’ at which of the following places in India?

A) Patna
B) Noida
C) Lucknow
D) Jaipur

147) FE o1-Faaet 7l F R A rAfaf@d 7 @ v wure o Al e & 3= e segex
(HPC) T8ECH T STeTadl 2018 H 3cHIC TohaT?

A) e
B) Arwsr
C) =1z
D)GI?’TCIQT
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148) Shanti Swarup Bhatnagar Prize is one of the prestigious multidisciplinary science awards in
India. Who won the Shanti Swarup Bhatnagar Prize for medical science in the year 2018 ?

A) Thomas J. Pucadyil

B) Ganesh Nagaraju

C) Deepak Gaur

D) Ganesan Venkatasubramanian

148) AT AT AR ERR Wﬁma@ﬁm fariel REPRT A G UhH g a9 2018 H
Rifrcar faamre & faw enfd FawT $eaTR RER e sirar?

A) giE o, g

B) arorer AmeRTST

C) &roes 7k

D) srorerer dercggvast

149) Who won the silver medal in the category of Badminton in the Rio Olympics 2016?

A) Saina Nehwal
B) P. V. Sindhu
C) Sania Mirza

D) Uma Maheswari

149) R 3T 2016 H dsfFe Fr Joft F 670 Ieah [hdel Siar?

A) qrgaT sgarer
B) . &, fRigg

C) arferar faaT
D) 3aT Argeady

150) Who won the 'FIFA Young Player Award' for his performance at the 2018 World Cup?

A) Diego Forlan
B) Paul Pogba
C) Kylian Mbappe
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D) Ronaldo

150) 2018 AR & & 379e) Fe el & Tl "I JIT Tl WER' Tt Sitir?

A) feuai wlelfe

B) qfer gYerar

C) sprsforast trar
D) Qere=

Page660f91
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Section 4 - Techincal Knowledge of Physics

No. of Questions: 50

151) According to Bohr's model, when an electron revolves in a stationary orbit, it

A) revolves with constant speed but radiates energy

B) revolves with constant speed without radiating energy

C) revolves with constant acceleration without radiating energy
D) revolves with variable speed radiating energy

151) SR & HISS oh 3THR ST Solerelel [EUX el H gAT &, dl a8

A) T 17y 3 AT T & Sifehet St Rl el &
B) Fioff Riee e R FaeTr R a1y 3 wrer vl &
C) 3 fawRa frw fatT R eaor & arer gaar &
D) 5t faefia aet gu aRacireler arfey & @rer gter &

152) An electron in a hydrogen atom jumps from higher orbit into the fourth orbit. The set of lines
emitted is called

A) Balmer series
B) Brackett series
C) Lyman series
D) Paschen series

152) BTgIolel URATY] H Ueh Solerclel 3ol el @ diel sefl & fRar 8| Scafoid {@msit & qeeay &
T gl ST &7

A) IR B
B) s et
C) amra#= fadsr
D) greae s
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153) According to Lenz's law,

A) the direction of the induced current will be such that it helps the change in magnetic flux

B) the direction of the induced current will be such that it opposes the change in magnetic flux
C) the magnitude of the induced emf is directly proportional to the rate of change of flux

D) induced current is in accordance with the law of conservation of emf

153) oot & f@TH & 38R,

A) it faega emr & feem Tt gl § o o gadhra wrorere 3 aRacst a7 Aeg et &
B) IR Tegel U T T el gl § o at e Foferd & TRaceT ohT farer kel &
C) IR emf &1 aREATOT, Fetarg F TREcT T G F ITHATIAF BIell &

D) ofte faegd 4mT, emf & ST & e & 38R g1aT &

154) The resistances of 2 Q, 3 Q, 10 Q and 15 Q are used to construct a Wheatstone's bridge. The
cyclic order of resistances for which the bridge is balanced is

A) 2, 3,10, 15
B) 3, 2,10, 15
C) 2,10, 15,3
D) 3, 15, 10, 2

154)2 Q, 3 Q, 10 Q 3R 15 Q F JRIUS FT 3YAT el fsiol gellal & v fovar Sirar g1 fost &t
AT T aTel FTRIEIRT ST TshIA st FAT GIaNT?

A) 2, 3,10, 15
B) 3, 2, 10, 15
C) 2,10, 15,3
D) 3, 15, 10, 2

155) A straight conductor carrying current i of length | is bent in the form of a semicircle of radius r.
The magnetic field at the centre O of the semicircle (in tesla) is

A) (107) x Trl/r

B) (107) x (1) x i/l
C) (107) x i/(1?)
D) (10°7) x Tmi/(r?)
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155)ﬁqgﬁﬁmiaﬁqarﬁamarﬁwmumqn£fddléI%,ﬁl@rﬁwaﬁaﬁﬁﬁﬁm‘s’rw
€1 3T89gd o e O W Yaehiy &1F (SEell H) fohcarr gram?

A) (107) x Trl/r

B) (107) x (1r2) X il
C) (107) x mil(12)
D) (10°7) x Tmi/(r?)

156) A hole in a semiconductor is a

A) mobile proton of charge equal to +e/2

B) mobile positron of charge equal to +e/2

C) charged particle with a net charge of +e/4

D) vacancy in the valence orbit due to breakage of covalent bond

156) 3reT=Teres & &g Far 872

A) g +e/2 & SRT&R 3T T Teh ASST el §

B) Ig +e/2 & ST 31920 & Teh A Giforec &

C) =g v 3R FoT § foraeT Hof AU +e/4 §

D) =g 2Ysf et #F TEEash MY & gest 3 HROUT IcosT ReFdal &

157) Identify the statement which is TRUE for a n-type semiconductor.

A) The impurity atoms in a n-type semiconductor are called acceptor type of impurity atoms
B) A n-type semiconductor is negatively charged

C) The electrons are the majority carriers in a n-type semiconductor
D) A n-type semiconductor is made of germanium or silicon doped with boron atoms

157) n-9hRR & 3TeTaTereh & folT TET e ggar |

A n-SER F e 7 IRIEUT THATY], TSN TN & [T TAT] FEelld &
B) n-wehR &1 37T RHUTcHS §9 & 3EART @ar g
C)  n-wR & 3rITeleh 7 Soleraiel T ageh (FRAV) g &
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D) n-y&R & srearers aRier TRaATI3H & |rer 319 e arw sferret a1 fafoea & oo grar §

158) Which of the following properties is TRUE with respect to both paramagnetic and
ferromagnetic substances?

A) Paramagnetic substances are attracted while ferromagnetic substances are repelled by
magnets

B) Paramagnetic substances are repelled while ferromagnetic substances are attracted by
magnets

C) Both paramagnetic and ferromagnetic substances are repelled by magnets
D) Both paramagnetic and ferromagnetic substances are attracted by magnets

158) foieATei@e & & shlet | 90T JreTeaehd AR Slteeachia gare aet o Heer # Fgr 872

A) 3T JeTd Gu% § 3TN g § S dllegaeia Jare Jae § Tiaehiod gid &
B) Sy Tt o & T oY & e cllgaashie vard ga & R g
C) sragquehrer iR seashnr vars et & gaeh & s g §
D) sreredhr 3iR dllegadhr uerd it & das & 3N 8l §

159) According to Gauss' theorem, the total outward normal induction over a closed surface is
equal to

A) the positive charge enclosed within the surface

B) 41T times the net charge outside the surface

C) 41T times the total charge enclosed within the surface
D) the charge density on the surface

159) 3MTe el & e, el §ig Telg TN el STEX FATT 90T

A) Fag & o HeldeT ElTcHe 3L & sYIe gramm

B) Waig & aTeX & Tl A & 411 I[AT 5 WK g1

C) wietg % e FeraeT Poet AR & 411 AT & SR Q19T
D) wag w Alelg 3maer getea & SRTeR g9l
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160) The velocity of the minute hand relative to hour hand is

A) 1/ 360 rad/min
B) 51/ 360 rad/min
C) m/ 180 rad/min
D) 1111/ 360 rad/min

160) ©¢ T g3 I Jolell H [AeTe T g T AT fhelalr gram?

A) 1/ 360 rad/min
B) 51/ 360 rad/min
C) /180 rad/min
D) 111/ 360 rad/min

161) A force F =i+ 5) + 7k acts on a particle and it displaces through S = 6i + 9k. If the force is in
newton and distance is in metres, then the work done is

A) 74 ]
B) 11 J
C) 69 J
D)5J

161) S Il F = i + 5j + 7k ThdT ST IR &1 T & IR T8 S = 6i + 9k & GaRT [ATAAT giar g |
e ST 7T H g1 3R gl [AeT A g1 T fohT 1w &1 &1 10T fhfaiw |

A) 74 ]
B) 11 J
C) 69 J
D)5J

162) Which of the following statements about kinetic theory of gases is INCORRECT?

A) The molecules of a gas are in continuous random motion

B) The molecules continuously undergo inelastic collision

C) The molecules do not interact with each other except during collisions
D) The collisions among the molecules are of short duration
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162) far=ifafed &7 & A9-30Erfa Reeid & IR & Sl AT HI TeTd g2

A) 3 & 3707 Tad Are o afa 7 g §

B) 31ur3it &hT e §9 & 39caTey HETE BT §

C) 310 T & FHY & AR, Teh g@R & Ay 3T fohar w18l X 8
D) 3ror31f & drar giet aTe cara o1y 3rafer & g §

163) The internal energy of an ideal gas depends on

A) temperature only

B) pressure and temperature
C) volume and pressure

D) volume only

163) o 31rcer 3 &1 3TaRe 39T fhd W AR Lt 872

A) Fael dI9ATT T

B) gara 3R argdAeE W
C) 3maae 3R gaa o
D) &haer 3made W

164) The first law of thermodynamics is given by
(Symbols and notations carry their usual meaning)

A) dQ =dU + pdV
B) dQ =dU x pdV
C)dQ=@U+dV)p
D) dQ = pdU + dV

164) FSARTAST o g2+ e F& fear Srar g2

(Iciep 3R REat 3r9ar yaferd 31 g2 §)

A) dQ = dU + pdV
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B) dQ = dU x pdV
C)dQ=(@dU+dV)p
D) dQ = pdU +dV

165) Huygens' wave theory in its original form failed to explain

A) reflection
B) refraction
C) diffraction
D) polarisation

165) gTgaled Sl d3T-FAGHTd 39t arediash &9 # fohdenT JuTed el H father @172

A) g
B) 3rqader
C) fader

D) ¢ydaor

166) A value of a phase difference ® between two waves which produce destructive interference is

A)T+TT/4
B) 3+ 1/3
C)2m+m

D)m+1/6

166) &I LT S Tatadeh cTAhUT 3ces] d g, o SId BITAX P FI AT fohcalT g2

A)T+T1/4
B) 3+ 1/3
C)2m+m

D)m+1/6

167) If the radius of the first Bohr orbit of the hydrogen atom is 0.5 A then the radius of the second
Bohr orbit of the hydrogen atom will be

A) 2 A
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B) 0.25 A
C)1A
D)0.125 A

167) e BTSZISTeT YXATU] T Tgoll S1gY hall &1 F35aT 0.5 A § oY BTSgToTeT URHATT] hi G Sg< el &l
=ear ar grefr?

A) 2 A

B) 0.25 A
C)1A
D)0.125 A

168) The ratio of the energies of hydrogen atom in its first to second excited state is

A) 1/4
B) 4/9
C) 9/4
D) 4

168) qﬁﬂq&ﬁﬁﬁamwﬁa@mw@r5dﬁdﬁwagqld FIAT &7

A) 1/4
B) 4/9
C) 9/4
D) 4

169) Which of the following series of lines belong to Ultra Voilet region in the hydrogen spectrum?

A) Lyman series
B) Balmer series

C) Paschen series
D) Brackett series

169) fFe=fafed & & it AT 4Tl gTSgioTel FTeFeH H 37ogl adolc &7 & Hefed g7
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A) STgHeT e
B) e st
C) ureter sjwen
D) 3 el

170) The magnetic flux linked with a coil is changed from 20 weber to 11 weber in 0.1 seconds.
The electromotive force induced in the coil is

A) 60 volts
B) 70 volts
C) 80 volts
D) 90 volts

170) TUeh SISl U 5[3 TSI Folehd T 0.1 Yehs H 20 A & 11 deX & el AT STl &1 HiseT &
IR gelFerAed (faegd argen) ol fohd=Tr g2

A) 60 dtee
B) 70 atee
C) 80 alee
D) 90 atee

171) When the north pole of a magnet is moving towards the left hand end of the coil, the direction
of the induced current in the coil as seen from the magnet side is

A) clockwise

B) anticlockwise

C) dependent on the speed of the magnet

D) not dependent on the movement of the magnet

171) STe Hefeh T 3T ¢ Bigel & &S 3N o [T 1 R ITTAHAT gielm § o Yeieh T 3N F g@el |
digel 7 AR faegd anr $ feer

A) efarvTrad feem & grefr
B) aramas feem 3 grefr
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C) ek & a1fey ox fei el
D)gwaﬁrwwﬁrﬁiaﬁm

172) In a half wave rectifier circuit, a suitable load resistor is connected

(1) in series with the vacuum diode

(i) in series with a semiconductor diode
(iii) in parallel with a vacuum diode

(iv) in parallel with an oscillator

Identify the CORRECT statement(s) for the given question.

A) (iii) only
B) (iv) only

C) (i) or (ii) only
D) (iii) or (iv) only

172) 316y ader feseshrly aRuy (@fde) # 3fEd ois gfoRies @ ST 8idar &2

(i) FaTa ss & O Ao pA
(ii) 3TaTe 31AS & ATY Ao el H
(iii) faTd 3118 & ATY FHATAR T H
(iv) GTeTeh & ATY AR el H

feT 1T g9 & ToIT TEr YA (HU=AT) I TgdTet |

A) e (iii)

B) &aet (iv)

C) &aer (i) T (ii)

D) arerer (jii) 31K (iv)

173) The reverse voltage across a p-n junction at which a large current results is known as

A) reverse saturation voltage
B) reverse knee voltage
C) breakdown voltage
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D) reverse knee current

173) p-n SoRIeT R I8 Scshe (Radl) aeed foraeh qROMEAETEY Sgd 3T faggd yared el &, 38
g & H ST ST 82

A) Nae Jg¥ee arees
B) Ra¥ oY ateesr

C) Sehgi3eT aleea

D) Rasf 7t e

174) ldentify the INCORRECT statement with reference to semiconductors.

A) A p-njunction is nothing but a p-type semiconductor placed in contact with a n-type
semiconductor

B) Anideal p-n junction is one in which there is an abrupt changeover from p-type to n-type in a
silicon crystal

C) A p-njunction is obtained by doping Ge or Si such that, one-half is doped with trivalent
atoms and the other half with pentavalent atoms

D) All the semiconductor devices contain one or more p-n junctions

174) 374ATIh & & H ITod U T IgaTel|

A) T p-n SIFAT hael Teh p-TehR &1 ITETeleh BIdT & ST fohdll n-YehR & 31eiaTores & |1y T@m
ST &

B) e 31eel p-n SR g & forae RAfreie fheed & p-9R A n-9R 7 vcarfid aRkads
glaT e

C) U p-n SIS O Yo & & STe Ge AT Si &Y 19T 57 e Y ST o 38k Tep 3L 797 bl
ERIdele YRATUT3T & HTY 3R 377 31TeY 97797 i YeTdele TATILHT & T 319 foham Siw

D) &3t 3ré=meler 3uault 3 U AT U A 31F p-n TRFET &

175) A combination of two 1.5 pF capacitors connected in parallel is further connected in series
with two 3 yF capacitors. What is the equivalent capacitance of the circuit?

A) 1 pF
B) 2 uF
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C) 1.5 uF
D) 30 pF

175) HHATR % H SIS AT T 1.5 uF HETRET 361 HAToTel 3T & 3 uF HUTRET o arer ot vy & a7
§m%lmﬁ§wmﬁmwgﬁﬁ?

A) 1 uF
B) 2 uF
C)1.5uF
D) 30 uF

176) What type of hysteresis loop do you expect in case of a material forming the core of a
transformer?

A) Tall and wide

B) Tall and narrow
C) Short and wide
D) Short and narrow

176) SI=EWMIFR I 1S Sailel dTel Tohdl qaTd o fae 31 39 fohd T o Ao arer (R e o)
T YT X 872

A) g 3R ater
B) e 3R Femr
C) oYer 3k dter
D) et 3tk demr

177) Given below is a Statement followed by two Conclusions. Identify the CORRECT option.

Statement: A ball is thrown horizontally and at the same time another ball is dropped from the top
of a tower.

Conclusion | : Both the balls hit the ground with the same velocity.
Conclusion Il: Both the balls reach the ground at the same time.

A) Conclusion | is true but Conclusion Il is false
B) Conclusion Il is true but Conclusion I is false
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C) Both Conclusions | and Il are true
D) Both Conclusions | and Il are false

177) i Teh YT & §1¢ gF [y fu a1w | T8 fasred &1 ggare a|
HYeT; Teh 31 I Sifcisr T T hepl ST § IR 34T THY Tah 3R 3G Tah elaX & I A FIRE S g

fasey | : 1t &) 3¢ A 39T & FHT W RS E
sy 11 g1 &Y e ve & TEHY 9T FHT W a1

A) Ty | T8 & Afehet SRy 1l T §
B) forsery 1| G & Sifehet sy | aTeraT
C) gt & sy | 3 11 T &
D) gt & fsens | 31 11 aroraT &

178) A geostationary satellite is orbiting the earth at a height 6R from the surface of the earth,
where R is the radius of the earth. The time period of a satellite at a height of 2.5R from the surface
of earth is (in hours)

A) 4
B) 6

C) 612
D) 46

178) Teh 31-FUT 3UIE Y2t T Flg ¥ 6R T 3aTS TR, JedT Y IRGHHAT X 6T &, el R g2t i
35 81 q2at & Hcig @ 2.5 R 1 3918 W 39a1g hT §AY rafel (8ek #) 1 Al fahelsll gram?

A) 4
B) 6

C) 62
D) 46

179) Water enters a horizontal pipe of non-uniform cross-section with a velocity of 0.6 m/s and
leaves the other end with a velocity of 0.4 m/s. At the first end, pressure of water is 1600 N/m?2.
Calculate the pressure of water at the other end considering the density of water as 1000 kg/m3?

A) 17 N/m?
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B) 170 N/m?
C) 1700 N/m?
D) 17000 N/m?

179) el 1A 3TIEY T (PIF-GFAeT) aTel &ifdsT I$T & Urel 0.6 m/s & 997 @ T el §
HR g@t T/ 0.4 m/s & 97T F ol STl & | Tt TR W), 9TedT &1 galta 1600 N/m? & | UTeil & Hefed
1000 kg/m* AT §T g@R faR R 91eiT 3 G T 01T fohfore?

A) 17 N/m?

B) 170 N/m?
C) 1700 N/m?
D) 17000 N/m?

180) Given below is a list of statements with reference to the kinetic theory of gases. Identify the
statements which are TRUE?

(i) The pressure of a gas is proportional to the mean speed of the molecules

(i) The root mean square speed of the molecules is proportional to pressure

(iii) The rate of diffusion is proportional to the mean speed of the molecules

(iv) The mean translational kinetic energy of a gas is proportional to its Kelvin temperature
A) (i) and (ii)

B) (ii) and (iii)

C) (i) and (iv)

D) (iv) and (i)

180) 3rg-3ruperfer FAceriar & Heet &, ol el 1 ek Fal e 918 1 37 AT hT uganet Y it Hel 872

(i) 3R T GaTT 310737 Y AT T F TIAF @Y &
(if) 310737t i FaT-FATE-F NS g & T g §
(iif) TEREROT 2T & JTUT3T ohT AT 1Tt & JeTUTICI Bicll &
(iv) 3 Y ATET IRATART (STHARITS) TTIoT 3T 3Heh shiedel ATTHAT o 3eTdTicieh Blcil &

A) (i) 3R (i)
B) (ii) 31K (i)
C) (i) 31 (iv)
D) (iv) 33 (i)
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181) For a gas at a temperature T, the root mean square velocity vims, the most probable speed
Vmp, and the average speed vav obey the relationship

A) Vims > Vav >V mp
B) Vav > Vims > V mp
C) Vmp > Vav > Vrms
D) Vmp > Vrms > Vav

181) forelY 3 & fOIT ATIATST T W), G31-ATET-F AT Virms, TIH SATET FHITIT 1 vimp, 3R 3 a1fay
Vay fohT TS ST 9TeleT Hidl 87

A) Vims > Vav >V mp
B) Vav > Vims >V mp
C) Vmp > Vav > Vrms
D) Vmp > Vims > Vav

182) Huygens' conception of secondary waves

A) is used to find the focal length of a thick lens
B) is a geometrical method to find wavefront

C) is used to determine the velocity of light

D) is used to explain polarisation

182) gT83Id <hT Gldcigeh Il &hl TR

A) FT 3TANT AT o7 T BreRd g3t AT e 7 1 AT §
B) aRammar AT et T U SR geuta §

C) &1 YT FerTer & 39T Y TTeiTR adel & hr ST &
D) a1 ST STeTaoT S SR Y 3 By S

183) If intensity ratio of two interfering waves is 9:1, then the ratio of the maximum to minimum
amplitude of the resultant wave is

A)7:5
B) 25:7
C)4:3
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D)2:1

183) ITE &Y AT 3ot el aTell AN ehl TSIl 1eTaret 9: 1 §, o IRUme ader & ifeehcs &
TATH ITATH T 3TeTUT Fohc=T gram?

A)7:5
B) 25:7
C)4:3
D)2:1

184) In two separate set-ups of Young's double slit experiment, fringes of equal width are observed
when lights of wavelengths in the ratio 1:2 are used. If the ratio of the slit separation in the two
cases is 2:1, then the ratio of the distance, between the plane of the slits and the screen, in the two
set-ups is

A)l:1
B)2:1
C)1:2
D)4:1

184) TaT ST T TANIT & & I7elaT 30T AT 379 A, 1:2 IeT0Tcd & Fhiel T ARG edt 1 39T farw
STl IR HHATH T3S o Thot Wl 318 | I St &1 el & [Fere fasreTst &t 31gare 2:1 8, & et de-
319 & el 3R Thist & T o e hr gl 1 eI fehelaiT g2

Al:1
B)2:1
C)1:2
D)4:1

185) The Bohr's radius for hydrogen atom is

A) 0.529 A
B) 5.29 A
C) 0.0529 A
D)52.9 A
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185) gT33Iotel TRATY o v &g i Aear &

A) 0.529 A
B) 5.29 A
C) 0.0529 A
D)52.9 A

186) An electron drops from the level in which its energy is -3.4 eV to the level, where its energy is
-13.6 eV. During the process

A) it gains a potential energy of 10.2 eV
B) it gains a kinetic energy of 10.2 eV
C) it emits a photon of energy 10.2 eV
D) it emits an electron of energy 10.2 eV

186) Teh Soldelsl 39 TR & foI@s 39T 3911 -3.4 eV &, & 39 TR & ar § 5ws 396 3a1-13.6
eV gl 89 a1t

A) g 10.2 eV Fr FEAfIST Folt IIod T

B) ag 10.2 eV &I a1fast FaiT wred aar &

C) g 10.2 eV 3T &l Ueh HIciel ScHTold T &
D) a8 10.2 eV FaiT &l Uk Solercisl 3cdtold il &

187) An electric bulb is marked as 100 W-200 V. The resistance of the bulb is

A) 200 ohm (approx.)
B) 400 ohm (approx.)
C) 50 ohm (approx.)
D) 2 ohm (approx.)

187) el faeg Iy so X 100 W-220 V for@r g1 alt 3Hehr Tfcrer fohclar giam 872

A) 200 ohm (eTaTeTaT)
B) 400 ohm (efaT31)
C) 50 ohm (eTeTeTan)
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D) 2 ohm (erereran)

188) Two resistances are connected in the two gaps of a metre bridge. The balance point is 20 cm
from the zero end. When a resistance of 15 ohm is connected in series with the smaller of the
resistances, the null point shifts to 40 cm. The smaller of the two resistances has the value (in
Ohms)

A) 8
B) 9
C) 10
D) 12

188) & gfcRyer, Hiex fiet & & 3 (31cren) # 3 &1 Helol fig Y= Y & 20 cm H gy &1 519 15
ohm &1 FTeRIE, 378 & Hal oI TcRIer & a1y Aol shed & S[5aT &, ol 31ed foig (e uise) & 40
cm T TaTATYT BT &1 &T ATARIT H & BIC ITARIT T AT (Ohm &) fohdar g2

A) 8
B) 9
C) 10
D) 12

189) In a common-emitter amplifier the load resistance is 1 kQ and the input resistance is 200 Q.
The current gain B of the transistor is 50. Find the voltage gain of the transistor.

A) 200
B) 20
C) 250
D) 25

189) 3ATSS ScHoieh UFCAHIIN H IS FTeoRIEr 1 kQ § 3R 3eTqe wiakier 200 Q &1 giforeex &r
farege &RT omet B, 50 B| SITSEER T aleesT oITeT ATl |

A) 200
B) 20
C) 250
D) 25
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190) If S and C represent the sum digit and carry digit respectively for the addition of one-digit
binary numbers governed by the rules of binary addition (C= A.B where C is the logical AND of
variables A and B) then S is given by

[Note: Symbols and notations carry usual meaning]

A)S=A+B
B)S=A.B
C)S=(A+B)
D)S=A®B

190) SIS ARTH & [Tl GaRT HTfeld Ueh-3hIT AT HEATIHT & JThel & feorv TG S 3R C
A T 3o 3R a7 BfSe §, (C= A.B S18T C T A 3R TR B T difotehel AND &) df' S &l fohdy &9
H fear SArar g2

A)S=A+B
B)S=A.B
C) S = (A +B)'
D)S=ADB

191) Which of these are the majority current carriers in a p-n-p transistor?

A) Acceptor ions
B) Donor ions

C) Free electrons
D) Holes

191) p-n-p SITSE A 3AH { 4T AR faegd g qigeh 87

A) VFaTeR 3T
B) gtk 3mae
C) shr goraer

D) aYer

192) Electric flux linked with a given plane surface is maximum if the angle between the electric
lines of force and the normal to the surface is
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A) 0°
B) 45°
C) 90°
D) 135°

192) fohell feT a1 HAcTeT Felg @ SI3T fae Folerd 3HTRehcd glalT ¢ Afe; Tl oo T@Y 3iR dclg &
SIsad & e &1 0T

A) oograr g
B) 450gTar
C) 9pograr &
D) 1350gar &

193) The equivalent capacitance of two capacitors connected in series is 1.6 yF. The effective
capacitance of the same two capacitors in parallel is 10 yF. The capacitances are

A) 4 uF, 6 uF
B) 5 uF, 5 uF
C) 2 yF, 8 pF
D) 3 uF, 7 uF

193) Aot v & SIS 1T & HUTRAT T JoI UTRAT 1.6 PF &1 TATA hel H o1 &l JUTRAT T T
enfdr 10 uF g1 I8 4TRaTd &

A) 4 uF, 6 uF
B) 5 uF, 5 uF
C) 2 yF, 8 pF
D) 3 uF, 7 uF

194) Einstein's second postulate of special relativity states that the speed of light

A) can increase if the speed of the light source increases

B) is constant regardless of whether the observer is in motion or at rest relative to the light
source

C) can decrease if the speed of the observer decreases
D) randomly changes depending upon its original light source
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194) HTEEEA S fAAY FT&TAT Y SfacdT HTAYROT FIarc & foh gahrer & arfa

A yep1er Frd Y 1T Tgt T T€ Thell §

B) =g a1 1 Warg T 5T, [ gerer dd & @t widetes afaAT & a7 T8 TR W d
C)  waets Hr a1fd FH 81 R Fe & Thell &

D) =u% arafae yarer i W IR X gU Arefeodhar § agerd §

195) A tube of length L is completely filled with an incompressible liquid of mass M and is closed at
both the ends. The tube is then rotated in a horizontal plane about one of its ends at a uniform
angular velocity w. Which among the following is the force exerted by the liquid at the other end?

A) MLw?/ 2
B) ML2w/ 2
C) MLw?

D) ML2w? /2

195) L ofelT$ 2 Teh TS 1 M GIHT aTel fohdll 3HFNST g @ I ol #30 STl & 3R At [ at
S¢ Y &M ST § | 38 §T6; g« 1 38eh fohdll Teh A & ITH UhEHATST 0T AT w o AT faifdst
AT IR GHT ST 8| g8 fR W, [e=faf@a & @ it &1 9ol ool G@RT ScHTId &Il 672

A) MLw? 2
B) ML2w/ 2
C) MLw?

D) ML2w? /2

196) A special theory of relativity deals with which of the following options?

A) Inertial frame of reference

B) Non-inertial frame of reference

C) Non-accelerated frame of reference
D) Accelerated frame of reference

196) fafarse smifaterar Riguia Frfafaa # @ fha fawey @ aefaa g2

A) St geat fa=arg
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B) srorzcdia @ fa=ara
C) 3rcaRa desf fowama
D) cafta s fa=ara

197) A thermos bottle containing coffee is shaken. If coffee is considered as a system, which of the
following statements is TRUE?

A) Temperature of the coffee will decrease

B) Internal energy of coffee will decrease

C) Heat has been added to the thermos bottle
D) Work has been done against viscous forces

197)Wﬁ®ﬁmgcwmmﬁ%ﬂmm%l ITe; 1T Pl Ueh THECH FHST T, ar fdeT &
A il T HYUT Tl 572

A) TN T ATIHATH TSI

B) shrehr Y 3tiaRes 3ot g Sweft

C) FvAT 29F dide & Gofad er AT g
D) earetar 577 & favey & R I §

198) The efficiency of a Carnot engine can be increased by which of the following way(s)?

(i) By increasing the temperature of the source.
(i) By decreasing the temperature of the sink by 10 Kelvin.

A) Only (i)

B) Only (ii)

C) Both (i) and (ii)
D) Neither (i) nor (ii)

198) FIAT FoTeT FT HFRIGTHAT &I [T @ 7 A ford TS F TSHIT ST ThdT 87

(i) BT FT ATIHTT TG
(ii) T &1 ATIATT 10 Kelvin & & HTh
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A) Fad (i)
B) et (i)
C) axat (i) 3R (i)
D) &1 & (i) =1 & (ii)

199) The focal length of the objective lens and eye lens of a microscope are 1.6 cm and 2.5 cm
respectively. The distance between the two lenses is 21.7 cm. If the final image is formed at
infinity, then the distance between the object and objective lens is

A) 1.80 cm
B) 1.70 cm
C)1.65cm
D) 1.75cm

199) ferdlY ATSRIERT (FeHeRl) & 3fRTLTH ofF 3R 31TAAT o7 T Blehel gRAT HAL: 1.6 cm AR
2.5 cm g1 aleit o & ey hr gl 21.7 cm &1 I 3TAH S 3T W et § af g 3R 31ieeTsh
o & frer < gt foheteir giaf?

A) 1.80 cm
B) 1.70 cm
C)1.65cm
D) 1.75cm

200) The displacements due to two interfering waves at a point are y1 = 3 sin wt and y2 = 4 sin (wt
+ 11/3). The amplitude of the resultant wave is (y1 and y2 are in CGS system)

(Note: Symbols and notations carry their usual meaning)

A) V37 cm
B) 7cm
C)25cm
D) V5 cm

200) fearlt foig ox &Y RaTt & cafdehioT & SROT, faedrdst y1 = 3 sin wt 3R y2 = 4 sin (wt + /3) |
ROTHY d3T ST 3TATH AT 8?2 (y1 3R y2 CGS REca # §)
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(Icirep 3R Faeet 319ar yaferd 31 g2d )

A) V37 cm
B) 7cm
C)25cm
D) V5 cm
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